Contract ID: 14401 Counties: BERGEN, ESSEX, HUDSON, HUNTERDON, MIDDLESEX,

MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN

Letting Date: February 11, 2014 District(s): N1

Call Order: 401 Project(s): STP-C00S(538)

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE L		(2) TRAFFIC	LINES INC	(3) ZONE S	TRIPING INC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	Roadway Items		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	38,000.00000	38,000.00	31,550.00000	31,550.00	50,077.77000	50,077.77
	RMANCE BOND AND NT BOND	DOLL						
0005	MMR080M	50,000.000	0.15000	7,500.00	0.20000	10,000.00	0.10000	5,000.00
CLEARII	NG SITE	LF						
0006	159003M	50.000	1.00000	50.00	0.01000	0.50	1.00000	50.00
BREAKA	AWAY BARRICADE	U						
0007	159006M	50.000	1.00000	50.00	0.01000	0.50	1.00000	50.00
DRUM		U						
8000	159009M	1,500.000	10.00000	15,000.00	15.00000	22,500.00	12.50000	18,750.00
TRAFFIC	CONE	U						

Contract ID: 14401 Counties: BERGEN, ESSEX, HUDSON, HUNTERDON, MIDDLESEX,

MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN

Letting Date: February 11, 2014 District(s): N1

Call Order: 401 Project(s): STP-C00S(538)

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE L		(2) TRAFFIC	C LINES INC	(3) ZONE S	TRIPING INC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	Roadway Items	3	Cat Al	t Set:	Cat A	It Member:	
0009	159012M	500.000	8.00000	4,000.00	1.00000	500.00	1.00000	500.00
CONSTR	RUCTION SIGNS	SF						
0010	159027M	8.000	2,500.00000	20,000.00	100.00000	800.00	2,000.00000	16,000.00
FLASHIN	NG ARROW BOARD, 4	' X 8' U						
0011	159030M	6.000	3,000.00000	18,000.00	5,000.00000	30,000.00	5,000.00000	30,000.00
PORTAE SIGN	BLE VARIABLE MESSA	AGE U						
0012	159108M	8.000	25,000.00000	200,000.00	25,000.00000	200,000.00	25,000.00000	200,000.00
	C CONTROL TRUCK W ED CRASH CUSHION	/ITH U						
0013	159141M	500.000	1.00000	500.00	0.01000	5.00	1.00000	500.00
TRAFFIC	DIRECTOR, FLAGGE	R HOUR						

Contract ID: 14401 Counties: BERGEN, ESSEX, HUDSON, HUNTERDON, MIDDLESEX,

MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN

Letting Date: February 11, 2014 District(s): N1

Call Order: 401 Project(s): STP-C00S(538)

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC		(3) ZONE STRIPING INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	Roadway Items	3	Cat Al	t Set:	Cat A	It Member:	
0014	MMR065M	10,000.000	0.10000	1,000.00	1.00000	10,000.00	0.75000	7,500.00
PATTER	AL OF LONG LIFE NED CONTRAST ENT MARKINGS TAP	LF E						
0015	MMR083M	(1)	70,000.00000	70,000.00	65,000.00000	65,000.00	78,830.00000	78,830.00
MOBILE SERVIC	RETROREFLECTON E	METER LS						
0016	610003M	7,727,294.000	0.25000	1,931,823.50	0.25000	1,931,823.50	0.25000	1,931,823.50
TRAFFIC	C STRIPES, 4"	LF						
0017	610006M	3,500,000.000	0.36000	1,260,000.00	0.39000	1,365,000.00	0.35000	1,225,000.00
TRAFFIC	C STRIPES, 6"	LF						
0018	610007M	100,000.000	1.75000	175,000.00	1.00000	100,000.00	0.45000	45,000.00
TRAFFIC	C STRIPES, 8"	LF						

Contract ID: 14401 Counties: BERGEN, ESSEX, HUDSON, HUNTERDON, MIDDLESEX,

MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN

Letting Date: February 11, 2014 District(s): N1

Call Order: 401 Project(s): STP-C00S(538)

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC		(3) ZONE STRIPING INC		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway Items	3	Cat Al	t Set:	Cat A	It Member:	
0019	MMR081M	2,000,000.000	0.65000	1,300,000.00	0.65000	1,300,000.00	0.77000	1,540,000.00
TRAFFIC THERMO	MARKINGS, LINES PLASTIC	, LF						
0020	610009M	66,000.000	6.25000	412,500.00	7.00000	462,000.00	7.87000	519,420.00
TRAFFIC	MARKINGS	SF						
0021	610012M	150.000	30.00000	4,500.00	80.00000	12,000.00	41.85000	6,277.50
RPM, MO LENS	NO-DIRECTIONAL,	WHITE U						
0022	610018M	150.000	30.00000	4,500.00	80.00000	12,000.00	41.85000	6,277.50
RPM, MO AMBER L	NO-DIRECTIONAL, ENS	U						



Contract ID: 14401 Counties: BERGEN, ESSEX, HUDSON, HUNTERDON, MIDDLESEX,

MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN

Letting Date: February 11, 2014 District(s): N1

Call Order: 401 Project(s): STP-C00S(538)

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC		(3) ZONE STRIPING INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	Roadway Items	5	Cat Al	t Set:	Cat A	It Member:	
0023	610021M	150.000	30.00000	4,500.00	80.00000	12,000.00	41.85000	6,277.50
RPM, BI	-DIRECTIONAL, AM	BER U						
0024	610024M	500.000	1.00000	500.00	5.00000	2,500.00	5.00000	2,500.00
REMOV	AL OF RPM	U						
0025	610027M	75,000.000	13.00000	975,000.00	13.00000	975,000.00	12.07000	905,250.00
REMOVA RPM LE	AL AND REPLACEM NS	IENT OF U						
0026	610036M	150,000.000	0.10000	15,000.00	0.25000	37,500.00	0.33000	49,500.00
REMOV	AL OF TRAFFIC ST	RIPES LF						
0027	MMR067M	250,000.000	0.15000	37,500.00	0.30000	75,000.00	0.50000	125,000.00
_	AL OF TRAFFIC IGS, LINES	LF						

Contract ID: 14401 Counties: BERGEN, ESSEX, HUDSON, HUNTERDON, MIDDLESEX,

MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN

Letting Date: February 11, 2014 District(s): N1

Call Order: 401 Project(s): STP-C00S(538)

Contract Time: 12/31/14 COMPLETION DATE

Contract Description: Let w contract, North 2014, Dr. 14401, 1114. On Coco (Coco)								
Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC		(3) ZONE STRIPING INC		
Alt Set / Al	t Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway Items	3	Cat Al	t Set:	Cat A	It Member:	
0028 61	0039M	25,000.000	0.25000	6,250.00	1.50000	37,500.00	1.50000	37,500.00
REMOVAL O	F TRAFFIC MA	RKINGS SF						
0029 MI	MR064M	15,000.000	4.00000	60,000.00	4.50000	67,500.00	6.00000	90,000.00
LONG LIFE P CONTRAST F MARKINGS T	PAVEMENT	LF						
0030 MI	MR090M	25,000.000	6.00000	150,000.00	5.50000	137,500.00	7.85000	196,250.00
LONG LIFE P CONTRAST F MARKINGS T	PAVEMENT	LF						
Section T	otals:			\$6,711,173.50		\$6,897,679.50		\$7,093,333.77

Contract ID: 14401 Counties: BERGEN, ESSEX, HUDSON, HUNTERDON, MIDDLESEX,

MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN

Letting Date: February 11, 2014 District(s): N1

Call Order: 401 Project(s): STP-C00S(538)

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC		(3) ZONE STRIPING INC		
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Construction E			ngineering Items	Cat Alt	Set:	Cat A	It Member:	
0003	155009M	1.000	30,000.00000	30,000.00	30,000.00000	30,000.00	30,000.00000	30,000.00
FIELD OI	FFICE TYPE C SET U	JP U						
0004	155027M	12.000	3,500.00000	42,000.00	3,500.00000	42,000.00	2,500.00000	30,000.00
FIELD OI MAINTEN	FFICE TYPE C NANCE	MO						
Section	on Totals:			\$72,000.00		\$72,000.00		\$60,000.00

Contract ID: 14401 Counties: BERGEN, ESSEX, HUDSON, HUNTERDON, MIDDLESEX,

MORRIS, PASSAIC, SOMERSET, SUSSEX, UNION, WARREN

Letting Date: February 11, 2014 District(s): N1

Call Order: 401 Project(s): STP-C00S(538)

Contract Time: 12/31/14 COMPLETION DATE

Contract Description: LLPM Contract, North-2014, DP14401, FPN: STP-C00S(538)

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC		(3) ZONE STRIPING INC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	ng Items	Cat Alt	t Set: Cat A		It Member:		
0002 152004P	1.000	6,000.00000	6,000.00	7,200.00000	7,200.00	6,000.00000	6,000.00
OWNER'S AND CONTRACT PROTECTIVE LIABILITY INSURANCE	OR'S DOLL						
Section Totals:			\$6,000.00		\$7,200.00		\$6,000.00
Co	entract Totals		\$6,789,173.50		\$6,976,879.50		\$7,159,333.77
Cost		\$6,789,173.50		\$6,976,879.50		7,159,333.77	

() indicates item is bid as Lump Sum

Vendor Ranking

Counties: BERGEN, ESSEX,

Page:

Call Order: 401 Contract ID: 14401

HUDSON, HUNTERDON, MIDDLESEX,

MORRIS, PASSAIC,

SOMERSET, SUSSEX, UNION,

WARREN

Letting Date: February 11, 2014 10:00 AM **District(s):** N1

Contract Time: 12/31/14 COMPLETION DATE

Contract Description: LLPM Contract, North-2014, DP14401, FPN: STP-C00S(538)

Project(s): STP-C00S(538)

Rank	Vendor	· ID/Name	Total Bid	Percent Of Low Bid
1	D2597	DENVILLE LINE PAINTING INC.	\$6,789,173.50	100.00%
2	T7152	TRAFFIC LINES INC	\$6,976,879.50	102.76%
3	Z6412	ZONE STRIPING INC	\$7,159,333.77	105.45%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,